S AT BE/NFR FH6FEE TREZ 2R
* BEZDRZITY , PEDEEAHDIGELHYET DT, HTEIZELY,
H 2A3H(AH) 2848 () 285B8(0K) 286H(K) 2A7H (%)
#A

TEE AFFEIRE B
14 14:15 15:05 13:55 15:05 13:35
2% 14:15 15:05 14:45 15:05 13:35
34 15:05 15:05 14:45 15:05 13:35
44 15:05 16:00 14:45 15:05 13:35
54 15:05 16:00 14:45 15:05 13:35
645 15:05 16:00 14:45 15:05 13:35

H 28108H(A) 2B1MB(R) 28128 (K) 2H13H(XK) 2H14H (%)
A BERZ0H

B ERNMES
145 14:15 13:55 15:05 14:15
2% 14:15 14:45 15:05 14:15
3F 15:05 14:45 15:05 15:05
44 15:05 14:45 15:05 15:05
54 15:05 14:45 15:05 15:05
64 15:05 14:45 15:05 15:05

H 2A17H(R) 2818H(X) 28198 (K) 28208(K) 2H218(%)
=)

ITE% ZE= ARFREIREH AFFfEIRER ARFEIRER
14 14:15 15:00 13:35 13:35 13:35
24 14:15 15:00 13:35 13:35 13:35
34 15:05 15:00 13:35 13:35 13:35
45 16:00 16:00 13:35 13:35 13:35
54 16:00 16:00 13:35 13:35 13:35
(5}:3 16:00 16:00 13:35 13:35 13:35

H 2824H(A) 2H25B(K) 2H26H(K) 2H27H(RK) 2H28H (%)
#il XEFfER ®REHKA

TE% ARFREIIREH
14 13:35 13:55 15:05 14:15
24 13:35 14:45 15:05 14:15
34 13:35 14:45 15:05 15:05
44 13:35 14:45 15:05 15:05
54 13:35 14:45 15:05 15:05
64 13:35 14:45 15:05 15:05

H 3A3H(A) 3A4B8 () 3A5H(K) 3A6H(XK) 3A7H(%)
A

ITE%H ARFEIIRE B BEESEH-BHR= AFFREREE
145 14:15 15:05 13:55 15:05 13:35
24 14:15 15:05 14:45 15:05 13:35
3 14:15 15:05 14:45 15:05 13:35
44 14:15 15:05 14:45 15:05 13:35
54 14:15 15:05 14:45 15:05 13:35
64 14:15 15:05 14:45 15:05 13:35

Lol A X x * =
15 AR SHFfE AR 5Bl AR
24 AR 5HFfHE SHFfE 5HFfE AR
3 SR SHF SR SR SEFfE. AR
45 SR OB 5B fE SR SEFR .4 RE R
5% SR ORF i SRR SEFRE 4R
64 SHFE 6+ HE SEF 5EFE Sk ARFRE

-RAREBICZERAHIERIT, 4-5-6FEF6KRHITEYETS,
-RIERIRETERFARMBICRYET,




